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Question 1- A person 1s running with a speed of 20 Km/h. he also takes stop
for 7 minutes after every 11 Km. Find the total time taken to complete a

dist<ance fo
T 4- Teh Afeh 20 foreiyeier & fa & e w2l 98 y3s 11 fordt s o 7 fime
o ToTT TehdT 2 120%%’%@@1@ T H T ST el §H 1A shifora]

A. 7 hour 24 minute
B. 7 hours

C. 7 hours 20 minutes
_PB~7hour 10 minutes
E. None of these
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Question 2- What will come in place of question

mark ?
T 2- sr%ﬂ%@%sww O ST SATTIT?
Ha6X[6+16 8, 4.5, 5}5%?% 6, 456, ?
= Tii?g QX0-5405=1.5 X843
— H@XH(: 5 A. 4500
1312 5 B. 4560
I 3K44+4=5¢ C. 4570

D. 5570

https://t.me/mathbytarunsirmepl -E. None of these
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Questlon 3})‘1‘ 441 + 8400X 2 + 3 —20% of)éffﬂ + 175% of 4448 =
P

Ef%ﬂ 441 T 1— + 8400%2+3 — 1550 <hT 20% + 4448 sh1 175% =?

A. 14499
B. 22599
C. 33597

=P 13599
E. None of these
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= TI8+8600+215
= 13§99
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Question 4— The price of sugar decreased by 20%. Now a person can buy 5 kg

more sugar for Rs 320. Find original price of sugar per kg.

T 4— =T shl hiHd H 20% hl AT 3ATS Bl 3T Teh Afh 320 T9J H 5 forcAl 31feren

=t @die gehar 21 afd ferart =+ ot Ireafass Hed JTd Fifs

A. 20
B. 21
C. 18

D-16
E. None of these
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Question 5- Find the amount received on a sum of R§ 18,000/at 10% per annum

compound interest for 2 years.
57 5- 18,000 F9 ST TTRT IR 2 W 3k TTT 10% STk wAshd/lg, SATST 3l 3T & 6 TR T
ISy

= 0+ lo+ loxio
= ]\(a/‘ 00 A. Rs 8000
B. Rs 12,000
C. Rs 6000
D. Rs 10,000
¥ None of these
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Question — The bar graph given below shows the profit percent of companies

A,B,C and D.
g — = o T IR U S A, B, C 3 D 3 ATd IidSTd ahl g1 2
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“Rs 16000
B. Rs 12000
C. Rs 18000
D. Rs 15000
E. None of these

jﬁcmm:;&ﬂrg prte.

BQF = (o P,

Question 6- If the income of company A 1s Rs 20000 then
find the expenditure of company A?

T 6- IS SHUAT A shT 3T 20000 TG 8 T U=t A hT =43 JTd
EAERY
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A Rs 42000

B. Rs 36000
C. Rs 30000
D. Rs 40000
E. None of these

Question 7- If the expenditure of company D 1s R§ 24000
C

then find the income of company D?

T 7- Jfe = D T =0 24000 TG & T Sho=T D shl 3T J1d
EASEY
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A.11:13 Question 8- If the expenditure of company B and C is same
B 12:13 then find ratio of there income.
C. 11:14 T 8- Ffa ST B ST C 1 =3 GHH & q1 3T hl AT el
D. 13:14 IS
. f th Chart Title
%N‘ one of these y e
70%
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50%
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Series1 M Columnl M Column2
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A. Rs 340000 Question 9- If total profit of all companies 1s Rs 2,46000.

B. Rs 450000 Then find total income of all companies.

C. Rs 640000 T4 9- Al Tt shuf-=r o T ¥ 2,46000 &0 B 1 gt
U Data inadequate ST 3BT e ST T sl

E. N f th Chart Title
one of these y @
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A. Rs 116000 Question 10- If total income of company A and D 1s Rs
B. Rs 114000 264000 then find total expenditure of both companies.

CKGS 176000 T 10- IS AT A 3R D 6T el T 264000 T & AT T
D. Rs 186000 ERICRIEICNERRRIG ?ﬁﬁﬁl

E. None of these Chart Title )
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Question 11- A person swims from point P against current for 5 minutes and

returns downstream in next 5 minutes and reaches to point R. If distance
between P to R 1s 100 meter then find the speed of current in km/h.

Ueh ik foig P &0 o forodiar S fe ek ottt € SR 37Tet S5 e | o o 3Agee
e € SR feig R Tk ug=rar 1 afe P& R o oft=r <t gt 100 Hiet &, qr e ot aifer

[EXiRARRIGEAISR]
A. 2 km/h
ROTN WK B. 0.2km/h
C. 0.4km/h
D. 0.6km/h

https://t. me/mathbytarunsirmepl E. None of these
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Question 12- P,Q and R can do a piece of work in 60 days. P and R 1s twice
efficient as Q. P and Q 1s three times as efficient as R. Find in how much time
R alone can do the whole work?

T 12- P, Q 3R R T & i 60 &1 § o Tkl | P AR R, Q ¥ T F1A

~

P 3L Q, R ¥ T 7T (A 8| JTd shifSTd foh R 3Tehed L T shl foheld €7 H I

T HhdT &7 A. 100 days
o Wk B. 24 days

C. 144 days

D. 120 days

E. None of these
https://t.me/mathbytarunsirmepl
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1 1
D Question 13- 20% + 73 + 2564 = x% - (6%+1)

f‘; T4143% g-i:
. _-FQH u-G 28
Rl .58

E. None of these
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Question 14-What approximate value come in place of ?

? o AT UL STIATI HIT T ST

x3+ 115.96%24.97 X1.92 = 190.96
(@)

3

L+ llo—2sx2=19|| ¥=5 A3

2= 191~ 6¢ - “123
3\ .

A= 129 D.11

E. 13
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Question 15-What approximate value come in place of ?
? o T T 3-|-\-|31-|II('\-|€| AT =T T2
10.13% 0f 29.93 + 55.03% of 300-150.3% of 60.11=?
9 3-29.93 T 10.13% + 300 =hT 55.03%-60.11 kT 150.3%= ?

=loy A36 1 5579300~ |50y, €0 A. 66
— _B 78
" 51‘ |€5+ 30 C. 88
= 1e8-9g D. 90
= 3¢ E. 94
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Question 16- The compound interest on a sum of Rs 50000 @er
annum )5 1s what percent of simple interest on a sum of Rs 70000

for 4 years at 10% per annum.

T4 16- 50000 T AT TR G 3 9T o foTT 20% Ffa oy kil & & skl 9T,
10% 9Tc Y ahl GLH 4 a1 o T 70000 T 2T T T ATLTOT SATST AT {ohaHT

BIRNIGR
A. 98%
CT 3(%/: ‘{Q'@"/Q _BA30%
== C. 115%
D. 182%

E. None of these
https://t.me/mathbytarunsirmepl
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